



Exercises on psychology

1. Suppose X is a sender of information and Y is a receiver. The joint distribution of (X,Y) is 

	Y                                        X
	1
	2

	1
	0.2
	0.3

	2
	0.1
	0.4


Suppose 
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is the amount of information Y receive from X. The percentage of information Y receive from X is
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Calculate the percentage of information Y receive from X. Now suppose Y is a sender of information and X is a receiver. Calculate the amount of information X receives from Y and compare with the amount of information Y receives from X.
2. Suppose X is a sender of information and Y is a receiver. The joint distribution of (X,Y) is 

	Y                                        X
	1
	2

	1
	0.2
	0.1

	2
	0.1
	0.6


Suppose 
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is the amount of information Y receive from X. The percentage of information Y receive from X is
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Calculate the percentage of information Y receive from X. 

3. Suppose X is a sender of information and Y is a receiver. The joint distribution of (X,Y) is 

	Y                                        X
	1
	2

	1
	0.1
	0.6

	2
	0.2
	0.1


Suppose 
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is the amount of information Y receive from X. The percentage of information Y receive from X is
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Calculate the percentage of information Y receive from X. Compare the results with question 2. 
4. Suppose the skill levels of four persons A, B, C and D are (0.15, 0.9), (0.4, 0.55), (0.55, 0.4) and (0.9, 0.15) respectively. Each person will adopt the perspective that optimize his own skill level and use the same perspective to evaluate other people’s skills. Please evaluate the skill levels of four persons from the perspective of A, B, C and D respectively. What conclusions you can draw from the calculations? 
5. Suppose a researcher obtained prominent position through brilliant works in his early age. When he reaches his middle and old age, he is no more active in research but holds great authority in the field. His opinions often determine the future of young researchers. Suppose the authority's skill level in two different methodologies is (0.2, 0.6). Two young researchers' skill levels are (0.1, 0.9) and (0.7, 0.1) respectively. The authority is extremely fair and does not purposefully favor or disfavor any one. What will be his assessment, based on his qualification, of the two young researchers? Explain why researches done by early pioneers often determine the future path of scientific research.
6. Suppose the skill levels of three persons A, B, and C on two different things are (0.1, 0.9), (0.5, 0.5) and (0.9, 0.1) respectively. Each person will adopt the perspective that optimize his own skill level and use the same perspective to evaluate other people’s skills. Suppose a person’s rankings in two different things are (
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Then the person will rank his own overall skill at the level
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Please calculate how much A, B, and C evaluate themselves. Suppose a person with skill levels (0.5, 0.5) value themselves as average. Are A, B, C above, equal or below average, according to their own evaluations? In psychology, there is a pattern called over confidence. Most people believe they are better than average. Please explain this pattern from your calculations. 

7. A person’s skill levels in hockey and basket ball are (0.4, 0.6). He tries to improve his skill in either hockey or basket ball by joining a hockey or basket ball club. If he joins the hockey club, his skill level at hockey is expected to improve to level 0.3, and his new skill levels in hockey and basket ball will be (0.3, 0.6). If he joins the basket ball club, his skill level at basket ball is expected to improve to level 0.5, and his new skill levels in hockey and basket ball will be (0.4, 0.5). Find his self evaluations of overall skill level if he decides to join hockey club or basket ball club. Please explain if he is more likely to join hockey club or basket ball club. 
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